H & 0l & AHS B Ml A

SA
g FHN=A ST
el FEEHAA (SH9 H2)
SA - BB - SA(S) - MRAY - BES 0l Aro ol E o timE=FT
FE 17,401,370 17,386,779 14,591
= 14,682,401 14,675,201 7,200
LS 1,159,605 1,152,406 7,200
Al 1,569,364 1,669,173 191
FASA S8 16,361,339 16,346,939 14,400
= 14,682,401 14,675,201 7,200
< 1,159,605 1,152,405 7,200
Al 519,333 519,333 0
FERY XA 16,361,339 16,346,939 14,400
= 14,682,401 14,675,201 7,200
LS 1,159,605 1,152,406 7,200
Al 519,333 519,333 0
HIZSHM HAF=Xt OlAtEl XI& 14,400 0 14,400
= 7,200 0 7,200
= 7,200 0 7,200
301 L2z 14,400 0 14,400
= 7,200 0 7,200
= 7,200 0 7,200
01 ABIEFH 5SS (SL2ETE) 14,400 0 14,400
OBIZYAXN A=Xt OIAHl XI&
400,0002 *3621 14,400 0 14,400
= 7,200 0 7,200
& 7,200 0 7,200
WS () 191 0 191
SAENE(FE1) 191 0 191
2xsgrE 191 0 191
802 gtet=D|Et 191 0 191
01 =NE2XSEHES % 0 %
O=DNEXZ ASTH % 0 %
D>2022E sOHHEHOQIFE HE I
95,0003 *14] % 0 %
O=1NEAZ 0IXEg3 1 1
D202 SOHHEHOQIFE HE N
460314 1 0 1
02 Al - THIE XSS % %
OAl - THIEEXS ALSTHH ® 0 %
D2022E SOHHEZOHQISE HE X
28,500 %14 29 0 29
PazE BEEE 7= X
63,0002 % 14| 63 63
OAl - £HIEZEZ 0IXIBtE 3 3 3
D2022E SOHHEZOHQISE HE X
1402 %14 1 0 1
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